Y4/ rROYv I RUILIKRILS BT®-CSLO-O

SIDE LOCK DRILL HOLDER

H G
H2 , HI /
IR
HG
| I ) e— I oo
ASIRS)
MODEL BT CODE BBT oC H HA1 H2 (€]
s CSL16-060 10027 200594 16 60 41 49
BBT30 CSL20-060 10028 200596 20 45 51 14 14 M10
CSL25-065 10029 200598 25 65 47 57
CSL16-060 11780 240630 16 60 a1 49
CSL16-090 11782 240632 90
CSL20-060 11784 240634 20 60 45 51 14 14 M10
T CSL20-090 11786 240636 90
BBT40 CSL25-060 11788 240638 o5 60 48 57
CSL25-090 11790 240640 90
CSL32-075 11792 240642 32 75 61 61 15 20 M12x1.25
CSL32-105 11794 240644
CSL40-105 11796 240646 40 105 68 71 25 M14x15
CSL16-040 13101 270670 40 - 18 - M12x1.25
CSL16-105 13102 270672 16 105 49
CSL16-135 13103 270674 135 41 14 14 M10
CSL16-165 13104 270676 165
CSL20-040 13105 270678 40 — 18 — M12x1.25
CSL20-105 13106 270680 20 105 51
CSL20-135 13107 270682 135 45 14 14 M10
CSL20-165 13108 270684 165
CSL25-040 13109 270686 40 - 20 - M16x1.5
= CSL25-105 13110 270688 o5 105 57
BBT50 CSL25-135 13111 270690 135 48 15 20 M12
CSL25-165 13112 270692 165
CSL32-040 13113 270694 40 — 20 — M16x1.5
CSL32-105 13114 270696 30 105 61
CSL32-135 13115 270698 135 61 15 0 M12x1.25
CSL32-165 13116 270700 165
CSL40-050 13117 270702 50 14
CSL40-105 13118 270704 105
CSL40-135 13119 270706 40 135 68 4 15 o5 M14x1.5
CSL40-165 13120 270708 165
CSL50-105 13121 270710 50 105 83 81 M16x1.5
ATV MIARNL—=R I v T ERZERLSEZ,
2. BBTIEZFEERTY . ® @ ® @
e p e rark an o BT30]-[CsL ][ 16]-[ 060
@ W5 Holder's Name
@ GLEE L G.L. Length

BT series




